12”0881 (K12n0881)

Linearized knot diagam

NN

4 12 7 1 8 4 11 5 12 8 3 9

Solving S
\(;_/ olving Sequence

: 3,7-411-8>12—>2—>1—6—>5—> 10—~ C4,C8,C
A knot d1agranﬂ c3 078611 e 2 666055010 0099%> » 85 C12

Ideals for irreducible component#ﬂ)f Xpar

I'=(b—u, a+1, v +u®+2u—1)
IY = (b—u, —2u'® +4u + .- +2a+5,
ul® — b 60t — 3u® + 170! — 5utt + 3000 — 40 + 33u® — 3u” + 2208 — 4w’ + 8ut — 5ud + 3u? — 3u-
= (—2u®® — 8u'® — 5u'? — 20u'! — 140" — 28u® — 24u® — 220" — 140’ —ut +6ud +2u? + 20+ u—2, a+1
ul® —ut® + 6ult — 3u? + 17ut? — 5utt + 30u® — 4u® + 33u® — 3u” + 2208 — 445 + 8ut — 5ud + 3u? — 3u
I = (14971u" + 1142270 + - - - + 20848b 4 188080, 11755u'® + 75853u' + - - - + 416964 — 119840,
u® 4+ 9u'® ... 4 64u + 32)
IY = (b+u, a+1, u* +u?+2u+1)
If=®b-2u—1,a+1, v +u+1)
IY=(b+u, at+u—1, u* +u+1)
IP=2b—u—1, 6a+u—3, u? +3)
(
(

)

I3

Iy =0+1,a+1, u> —u+1)
b—u, a+u—1,u> —u+1)

IThe image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

I=(®b—-a d*—a+1, u+1)
I = (u? — au — u® + b+ 3u — 2, 2uta — 2ula + Tu?a + v + a® — Sau + 3a + 3u, v’ — u? 4 4u® — 3u? + 3u — 1)
I = (u® — 2u” + 2u® — 4u® + 6u’ — 3u® 4 4u® + 20 — 3u,
—2u® + 3u® — 4u” 4+ 1068 — 120° + 10u* — 174> + 10u® + 2a — 9u + 4,
u'® — 2u® + 3u® — 6u” 4 8ub — 8u® + 11ut — 8u® + Tu? — 4u + 1)
Iy = (u® — 2u® + 2u” — 4u® + 6u® — 5ut + 6u® — 5u® + 2b 4 4u — 2,
fu7+2u672u5+4u476u3+3u2+2a74u+3,
ut® — 2u® + 3u® — 6u” 4 8ub — 8u® + 11ut — 8u® 4 Tu? — 4u + 1)
It ={0+u, a+1, v’ —u?+2u—1)
I = (b+wu, 2u® +5u® — 3u® + a+ 3u — 2, u® —u® + 3u — 4u® + 4u® — 3u +1)
It = (—uS +ut +b—u, —u* +u +a—1, ub — 205 +2u* — 203 +2u% —u +1)
I = (2u® —u +5u® =50 + b+ 4u—2, a+1, ub —u® + 3u® — 4u® + 4u® — 3u+ 1)
Iy = (b—wu, a+1, u* +2u® + 3u® 4+ 2u + 1)

* 19 irreducible components of dim¢ = 0, with total 122 representations.

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(b—-u,a+1, u*+u?>+2u—1)

(i) Arc colorings

w= (o)

0
a? — u
1
ayq = u2
-1
ail =\ u
—u
ag = \uy?+u
—u—1
a2 = u
wHu+1
ag = _u2
w?+1
ar = \2u-—1
u
a6 = \—u?—u+1
u? —+u
as = \—u?+u
—u? -1
a0 =\ —u+1
u—1
ag = \—u?—u+1
(ii) Obstruction class = —1

(iii) Cusp Shapes = —6u — 9



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C3
€4, 5, Co b —u? +2u+1
C7,Cg,C9

€10, C11,C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
€4,C5,C
4,05, C6 y3+3y2+6y71
C7,C8, Co
€10, C11, C12




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y=1C)

Cusp shape

u = —0.69632 + 1.435957
a = —1.00000
b= —0.69632 + 1.435951

8.6715 + 17.01031

—4.82206 — 8.615701

u = —0.69632 — 1.435951

a = —1.00000 8.6715 — 17.01031 | —4.82206 + 8.615701
b= —0.69632 — 1.435951

uw=0.392647

a = —1.00000 —0.893590 —11.3560

b= 0.392647




ILIY=(b-—u, 2u+4u™+..-+2a+5, u'®—u'®+... —3u+1)

(i) Arc colorings

w= (3)

0
a7 = u
1
ayq = u2
ul® —2uM 4 4y — 3
an = U
ut® +2ult + - — Bu+2
ag = \u'® — 20" +... 4+ 5u—1
u'® —2uM 4 4 3u— 2
a2 = u
u15+4u13—|—~-~—%u+2
ag = —u2
2u'® 4 Jult + - —%u+3
o= \—Iul® gty g Iy -3
U
a6 = \ud+u
—%u15+gu14+~-~—%u+2
a5 = u15—u14+--~+gu—%
— 3yt —6ul? + ~-—|—u—g
ag = %’U,15+U14+" _3u+2

(ii) Obstruction class = —1

(iii) Cusp Shapes = 3u'® + 14u!3 + 8u'? + 38u'! + 28u'0 + 64u® + 54u® + 68u” +
48uS + 35u° + 12u* + 2u® — 10u® — 5u — 8



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
€1, €4, C7 u'® —9u'® + ... — 64u + 32
C10
C2,C3,Cs5
16 15
C6, Cs, Co u F+u 4 +3u+1
€11, C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, €4, ¢ y'® + 11y + ... — 2560y + 1024
€10
C2,C3,Cs
Cg,C8, C9 y16+11y15+_3y+1
C11,C12




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C5)

Cusp shape

0.155071 + 0.9824911

]
|

a 1.85344 — 0.164881 11.07300 4 2.113241 —4.13579 — 3.299111
b= 0.155071 + 0.9824911
u = 0.155071 — 0.9824911
= 1.85344 4 0.164881 11.07300 — 2.1132471 —4.13579 + 3.299111
b= 0.155071 — 0.9824911
u= 0.263127 4 0.9115841
a = —0.593560 — 1.1543101 1.97235 —2.75019 4 0.1
b= 10.263127 + 0.9115841
u= 0.263127 — 0.9115841
a = —0.593560 + 1.1543101 1.97235 —2.75019 4+ 0.1

0.263127 — 0.9115841

—0.415478 4 1.0748201
—0.325650 — 1.2266601
—0.415478 4+ 1.0748201

4.56396 + 9.621891

—5.35347 — 7.225611

—0.415478 — 1.0748201
= —0.325650 + 1.226660]
= —0.415478 — 1.0748201

4.56396 — 9.621891

—5.35347 + 7.225611

= —0.635797 + 0.4759431
= —0.30659 — 1.459111

2.73466 — 5.623921

—7.83043 + 1.633811

—0.635797 — 0.4759431
—0.30659 + 1.459111
—0.635797 — 0.4759431

2.73466 + 5.623921

—7.83043 — 1.633811

—0.640425 + 1.0318101
= —1.163390 + 0.6064641
= —0.640425 + 1.0318101

11.07300 4 2.113241

—4.13579 — 3.299111

= —0.640425 — 1.0318101
= —1.163390 — 0.6064641

b
U
a
b
U
a
b
U
a
b= —0.635797 + 0.4759431
U
a
b
U
a
b
U
a
b= —0.640425 — 1.0318107

11.07300 — 2.113241

—4.13579 + 3.299111

10



Solutions to I3

V=1(vol + /=1CS)

Cusp shape

0.59989 + 1.323021
0.816913 — 0.0910001
0.59989 + 1.323021

2.73466 — 5.623921

—7.83043 + 1.633811

0.59989 — 1.323021
0.816913 + 0.0910001
0.59989 — 1.323021

2.73466 + 5.623921

—7.83043 — 1.633811

>~ Q@ €|l & €|l & &

0.75412 + 1.294551
0.993241 + 0.1834801
0.75412 + 1.294551

4.56396 — 9.621891

—5.35347 + 7.225611

@
-~
I

0.75412 — 1.294551
0.993241 — 0.1834801
0.75412 — 1.294551

4.56396 + 9.621891

—5.35347 — 7.225611

0.419493 + 0.1262501

= —0.774408 + 0.8316251

0.419493 + 0.1262501

—0.882161

—11.61043 4+ 0.1

> Q@ S|l & €| 9

0.419493 — 0.1262501
—0.774408 — 0.8316251
0.419493 — 0.1262501

—0.882161

—11.61043 4+ 0.1
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IL I = (—2u™® —8u™® + .- +2b—2, a+1, v —u'®+... —3u+1)

(i) Arc colorings

w=(3)

0
a7 = Uu
1
a4 = U2
-1
ann = \u® +4ut® 4+ — Ju+1
—u
ag = \ 15 — 2yl 4+ +5u—1
—ul® — 4yt + -+%u—2
a1z =\ u® + 40P+ - tut1
72u15+§ul4+~ —du+3
az = 3ul® —SuM 4.+ 5u—1
—%u15+%u14+-- _4u+g
a1 = 2u15—gu14+-- —|—5u—%
u
as = \ud+u
—%u15+2ul4—|—~~—3u—|—1
as = \ 2u'® — ol 4. —4u? +2u
—u?2 -1
a9 = —%u14—gu12+--~+u2+%u
7%u157%u14+”.+%u71
ag = 7u15+u14+~~—%u+%
i struction class = —
ii) Ob i 1 1

(iii) Cusp Shapes = 3u'® + 14u!'3 + 8u!? + 38u't + 28u? + 64u® + 54u® + 68u” +
48u8 + 35u® + 12u?* + 2u® — 10u® — bu — 8
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C3,C4
16 15
Cg, C7, Co vy +u’+-+3u+1
€10, C12
€2, 5, C8 u'® —9u'® + ... — 64u + 32
‘11

13



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4
Cg,C7,C9 y16+11y1°+—3y+1
€10, C12
C2,Cs5,Cg y16+11y15+_2560y+1024
‘11

14



(vi) Complex Volumes and Cusp Shapes

Solutions to I§ VvV —1(vol + /—1CS) Cusp shape
u = 0.155071 4 0.9824911
a = —1.00000 11.07300 4 2.113241 —4.13579 — 3.299111

b= —0.44941 — 1.795421

u = 0.155071 — 0.9824911
a = —1.00000 11.07300 — 2.1132471 —4.13579 + 3.299111
b= —0.44941 + 1.795421

u= 0.263127 4 0.9115841
a = —1.00000 1.97235 —2.75019 4 0.1
b= —0.896070 + 0.8448111

u= 0.263127 — 0.9115841
a = —1.00000 1.97235 —2.75019 4 0.1
—0.896070 — 0.8448111

—0.415478 4 1.0748201
—1.00000 4.56396 + 9.621891 —5.35347 — 7.225611
—1.45373 — 0.159641

—0.415478 — 1.0748201
= —1.00000 4.56396 — 9.621891 —5.35347 + 7.225611
= —1.45373 + 0.159641

= —0.635797 + 0.4759431
= —1.00000 2.73466 — 5.623921 —7.83043 + 1.633811

—0.635797 — 0.4759431
—1.00000 2.73466 4+ 5.623921 —7.83043 — 1.633811
—0.889379 + 0.7817791

—0.640425 4 1.0318101
—1.00000 11.07300 4 2.113241 —4.13579 — 3.299111
= —0.11931 + 1.588791

= —0.640425 — 1.0318101
= —1.00000 11.07300 — 2.113241 —4.13579 + 3.299111
= —0.11931 — 1.588791

b
U
a
b
U
a
b
U
a
b= —0.889379 — 0.7817791
U
a
b
U
a
b
U
a
b
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Solutions to I3

V=1(vol + v=1CS)

Cusp shape

= 0.59989 + 1.323021
—1.00000

2.73466 — 5.623921

—7.83043 + 1.633811

0.59989 — 1.323021
= —1.00000
= —0.610454 + 1.0262001

U
a
b= —0.610454 — 1.0262001
U
a
b

2.73466 + 5.623921

—7.83043 — 1.633811

4.56396 — 9.621891

—5.35347 + 7.225611

uw = 0.75412 4 1.294551
a = —1.00000
b= —0.51150 — 1.424161
uw= 0.75412 — 1.294551
a = —1.00000
b= —0.51150 + 1.424161

4.56396 + 9.621891

—5.35347 — 7.225611

u =

0.419493 + 0.1262501

a = —1.00000 —0.882161 —11.61043 4+ 0.1
b= 0.429851 — 0.2510931
u= 0.419493 — 0.1262501
a = —1.00000 —0.882161 —11.61043 4+ 0.1

b= 0.429851 + 0.2510931
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IV. I} = (14971u'5 4+ 1142274 + - ..
-+ 41696a — 119840, u'® + 9u!® + ..

75853ult + .

(i) Arc colorings

u=0)
)
;)

a7 =

0.281922u1% — 1.81919u4 + -
5.47904u + -

0.718102u'® —

0.706255u% + 5.65340u* + -
0.702897u% + 6.15119u* + -

0.436181u® + 3.65985u% + -
5.47904u + -

0.00335764u5 + 0.497794u14 + -
6.15119u + -

0.0881619u5 + 0.918649u* + -
0.149367u5 — 1.50173ult + -

az = —0.702897u! —

ay =

ag =

ud +u>

0.321901u® — 3.03118u* + -
0.268755u® — 2.46590u% + -

0.141045u® + 1.82840u'* + - --
0.424885u® + 4.19350u* + - - -

0.333245u'® + 3.21899u'4 + - - -
ag = \0.333941u'® + 3.80516u'? + - -

(-
(
e
o=
( 0.718102u'® —
C
(-
(«
we (-
=
(ii) Obstruction class = —1

16065, 15 _

_ 13303914
(iii) Cusp Shapes = — 75 u EoID) + -

+ 20848b 4 188080, 11755u'® +
- + 64u + 32)

—4.33596u + 2.87414
—20.9171uw — 9.02149

-+ 24.6506u + 9.22947
-+ 36.9708u + 22.6002

-4 16.5812u 4 11.8956
—20.9171u — 9.02149

-+ 11.3202u + 14.3707
— 35.9708u — 22.6002

-+ 9.03473u + 8.66692
— 13.1190u — 9.70990

— 14.9006u — 13.2295

+17.8037u + 16.0787
+ 29.8853u + 27.4927

-+ 19.1554u + 15.4597
+ 33.7444u + 30.7329

—19.7034u — 16.2621)

_ 159664, _ 98654
1303 1303

17



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C4
16 15
Cs, €7, C8 wtut 4t 3utl
€10, C11
€3, Ce6, C9 u16—9u15+--~—64u+32
C12

18



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4
C5,C7,C8 y16+11y1°+—3y+1
€10, C11
C12

19



(vi) Complex Volumes and Cusp Shapes

Solutions to If Vv—1(vol +/—1C5) Cusp shape
u = —0.889379 + 0.7817791
a = —0.137916 — 0.6563711 2.73466 + 5.623921 —7.83043 — 1.633811

b= —0.635797 — 0.4759431

u = —0.889379 — 0.7817791
—0.137916 4 0.6563711 2.73466 — 5.623921 —7.83043 4+ 1.633811
b= —0.635797 + 0.4759431

u = —0.610454 + 1.0262001
a = 1.209120 — 0.1346901 2.73466 + 5.623921 —7.83043 — 1.633811
b= 0.59989 — 1.323021

u = —0.610454 — 1.0262001
= 1.209120 + 0.1346901 2.73466 — 5.623921 —7.83043 4 1.633811
0.59989 + 1.323021

= —0.896070 + 0.8448111
—0.352314 4 0.6851531 1.97235 —2.75019 + 0.1
0.263127 + 0.9115841

—0.896070 — 0.8448111
= —0.352314 — 0.6851531 1.97235 —2.75019 + 0.1
= 0.263127 — 0.9115841

= —1.45373 4 0.159641
= —0.202173 — 0.7615491 4.56396 — 9.621891 —5.35347 + 7.225611

—1.45373 — 0.159641
—0.202173 4 0.7615491 4.56396 + 9.621891 —5.35347 — 7.225611
—0.415478 4 1.0748201

0.429851 + 0.2510931
= —0.599708 + 0.6440171 | —0.882161 —11.61043 4+ 0.1
0.419493 — 0.1262501

0.429851 — 0.2510931
= —0.599708 — 0.6440171 | —0.882161 —11.61043 4-0.1
= 0.419493 + 0.1262501

b
u
a
b
u
a
b
u
a
b= —0.415478 — 1.0748201
u
a
b
u
a
b
u
a
b
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Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.51150 + 1.424161
0.973582 + 0.1798481
0.75412 — 1.294551

4.56396 + 9.621891

—5.35347 — 7.225611

—0.51150 — 1.424161
= 0.973582 — 0.1798481
= 0.75412 + 1.294551

4.56396 — 9.621891

—5.35347 + 7.225611

= —0.11931 4 1.588791
= —0.675889 — 0.3523341
= —0.640425 + 1.0318101

11.07300 + 2.113241

—4.13579 — 3.299111

—0.11931 — 1.588791
—0.675889 + 0.3523341
—0.640425 — 1.0318101

11.07300 — 2.113241

—4.13579 + 3.299111

—0.44941 + 1.795421
0.535301 — 0.0476201
0.155071 — 0.9824911

11.07300 — 2.113241

—4.13579 + 3.299111

—0.44941 — 1.795421
= 0.535301 4+ 0.0476201
= 0.155071 + 0.9824911

11.07300 + 2.113241

—4.13579 — 3.299111
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V.I! =(b+u, a+1, u*+u?>+2u+1)

(i) Arc colorings

w= (o)

0
a7= u
1
a4— u2
-1
a1 = \ —u
—U
ag = \ —u?+u
u—1
a2 = —U
w—u+1
a2: _u2
uwd+u+2
o= \ud—w+u+1
u
a6: u3+u
w—ui+2u+1
as = \—ud +u? —u—2
—u? -1
a0 =\ —ud+u2—u

—2u® 4+ u? —3u—3
ag = 1

(ii) Obstruction class =1

(iii) Cusp Shapes = —6u® + 6u? — 6u — 12

22



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
c1,C3,C
1) 3)5 u4+u2+2u+1
C7,C9,C11
C2,C4,C
2004, 6 w4 —2u+1
€8, C10,C12

23



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
€4,C5,C 4 3 2
455,76 Yy +2y° +3y° -2y +1
C7,C8, Co
€10, C11, C12

24



(vi) Complex Volumes and Cusp Shapes

Solutions to I

V=1(vol + v=1CS)

Cusp shape

u = —0.624811 + 0.3002431
a = —1.00000
b= 0.624811 — 0.3002431

3.28987 + 7.327721

—6.00000 — 6.000001

u = —0.624811 — 0.3002431
a = —1.00000
b= 0.624811 + 0.3002431

3.28987 — 7.327721

—6.00000 + 6.000001

uw=0.62481 + 1.300247
a = —1.00000
b= —0.62481 — 1.300241

3.28987 — 7.327721

—6.00000 + 6.000001

uw=0.62481 — 1.300241
a = —1.00000
b= —0.62481 + 1.300241

3.28987 + 7.327721

—6.00000 — 6.000001

25



VLIY=(b—-2u—1,a+1, u>+u+1)

(i) Arc colorings

u—2
ag = \u+3

(ii) Obstruction class =1

(iii) Cusp Shapes = —8u — 13

26



(iv) u-Polynomials at the component

Crossings

u-Polynomials at each crossing

C1,C3,C7

Co

wHu+1

C2,Cs5, Cg

C11

C4,C6, C10

C12

w—u+1

27



(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C3,C4
Ce, C7, C9

€10, C12

y2+y+1

C2,Cs5,Cg

C11

(y+3)°

28



(vi) Complex Volumes and Cusp Shapes

Solutions to I

V=1 (vol + y/=1CS)

Cusp shape

u = —0.500000 + 0.8660251

a = —1.00000 9.86960 4 4.059771 | —9.00000 — 6.928201
b= 1.732051

u = —0.500000 — 0.8660251

a = —1.00000 9.86960 — 4.059771 | —9.00000 + 6.928201
b= — 1.732051

29



VIL I =(b4+u, a+u—1, u> +u+1)

(i) Arc colorings

(ii) Obstruction class =1

(iii) Cusp Shapes = —8u — 13

30



(iv) u-Polynomials at the component

Crossings

u-Polynomials at each crossing

C1,C4,C7

C10

C2, Cg, Cg

C12

w_u+1

C3,Cs5,C9

C11

w4u+1
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(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C4,C7

C10

(y+3)°

C2,C3,Cs
Ce6, C8, C9

C11,C12

y2+y+1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I

V=1 (vol + y/=1CS)

Cusp shape

u = —0.500000 + 0.8660251
a= 1.50000 — 0.866031
b= 0.500000 — 0.8660251

9.86960 + 4.059771

—9.00000 — 6.928201

u = —0.500000 — 0.8660251
a = 1.50000 + 0.866031
b= 0.500000 + 0.8660251

9.86960 — 4.059771

—9.00000 + 6.928201
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VIIL I¥ =

(i) Arc colorings

w= (o)

a7 =

MM_‘CM»—'
=S
[ I |
[
~_

S wi=
<
N|—= +

b =
IS
S N—
[ NI
N———

IS8
wIin

+ &
N[
S—" I~

S
—_
)
Il
/—\/—\/—\/—\/—\/‘—\/—\/—\/—\/—\
o=
S
wWin
+§
N
N——

(ii) Obstruction class =1

(iii) Cusp Shapes =4u —9

(2b—u—1, 6a+u—3, u? + 3)
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(iv) u-Polynomials at the component

Crossings

u-Polynomials at each crossing

C1,Cs5,C7

C11

wHu+1

C2,C4,Cg

C10

w_u+1

€3, Ce, C9

C12
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(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C2,C4
Cs5,C7,C8

€10, C11

y2+y+1

€3, Ce, C9

C12

(y+3)°
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(vi) Complex Volumes and Cusp Shapes

Solutions to I v—1(vol + /—1C5) Cusp shape

U= 1.732051
a = 0.500000 — 0.288675] | 9.86960 — 4.05977I | —9.00000 + 6.928201
b= 0.500000 4 0.8660251

U= — 1.732051
a = 0.500000 + 0.288675I | 9.86960 + 4.05977I | —9.00000 — 6.928201
b= 0.500000 — 0.8660251
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IX.I¥=(b+1,a+1, u*>) —u+1)

(i) Arc colorings

w= (o)

<
(
(
(%
e ()
e (1)
" (—u0+ 1>
o= (u"1)
o= (01)
o= (1)

(ii) Obstruction class = —1

(iii) Cusp Shapes = 8u — 13
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(iv) u-Polynomials at the component

Crossings

u-Polynomials at each crossing

C1,C3,C4
Ce, C7, C9

€10, C12

wHu+1

C2,Cs5,Cg

C11

(u—1)*
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(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C3,C4
Ce, C7, C9

€10, C12

y2+y+1

C2,Cs5,Cg

C11

(y—1)°
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(vi) Complex Volumes and Cusp Shapes

Solutions to I vV—1(vol +/—=1C8S) Cusp shape
uw = 0.500000 + 0.8660251
a = —1.00000 —4.059771 | —9.00000 + 6.928201
b = —1.00000
uw = 0.500000 — 0.8660251
a = —1.00000 4.059771 | —9.00000 — 6.928201
b = —1.00000
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X.Iy=(b—-u,at+u—1, u> —u+1)

(i) Arc colorings

w= (o)

ayp =

ag = u—l)
u+1

as = \uy—1
—2u+2

aip = u
—Uu

ag = 1

(ii) Obstruction class = —1

(iii) Cusp Shapes = 8u — 13
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(iv) u-Polynomials at the component

Crossings

u-Polynomials at each crossing

C1,C4,C7

C10

C2,C3,Cs
Ce6, C8, C9

C11,C12

wHu+1
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(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C4,C7

C10

C2,C3,Cs
Ce6, C8, C9

C11,C12

y2+y+1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape
= 0.500000 + 0.8660251

= 0.500000 — 0.8660251 —4.059771 | —9.00000 + 6.928201
= 0.500000 + 0.8660251

0.500000 — 0.8660251

0.500000 + 0.8660251 4.059771 | —9.00000 — 6.928201
0.500000 — 0.8660251

> QR |l & &
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XL I =(b—a,a®*—a+1, u+1)

w=(0)
( ")
- ()
2= ()
o ()
=)
(o)
(-
-
(
("

ag =
—a+1
ap = 20+ 1
1
ag = 2
0
as = \a—1

a—1
aip =

a—1
ag = \a-—1

(ii) Obstruction class = —1

(iii) Cusp Shapes = 8a — 13
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(iv) u-Polynomials at the component

Crossings

u-Polynomials at each crossing

C1,C2,C4
Cs5,C7,C8

€10, C11

wHu+1

€3, Ce, C9

C12

(u—1)*
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(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C2,C4
Cs5,C7,C8

€10, C11

y2+y+1

€3, Ce, C9

C12

(y—1)°
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(vi) Complex Volumes and Cusp Shapes

Solutions to I}y vV—1(vol +/—=1C8S) Cusp shape
u = —1.00000
a = 0.500000 + 0.8660251 —4.059771 | —9.00000 + 6.928201
b= 0.500000 + 0.8660251
u = —1.00000
a = 0.500000 — 0.8660251 4.059771 | —9.00000 — 6.928201
b= 0.500000 — 0.8660251
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XIL I, =
(ud—au—u?+b+3u—2, 2uta—2uda+---+a?+3a, u®—u*+4ud—3u?+3u—1)

(i) Arc colorings

o ()

0
ar = U
1
ay4 = u2
a
a1 =\ —ud +au+u?—3u+2
—ua + u* + ua — 3au + 3u? + 2a
asg = ur — S +3u?—2u+1
w—au—ul+a+3u—2
aiz2 = —wd 4+ au+uZ—3u+2
—uta + uda + 2u* — 3u2a — 203 + 2au + Tu? — 5u+ 3
az = uta — uta — u* 4 3u2a + 2u® — 2au — 4u? + 5u— 2
—uta+uda + 2u* — 3ula —ud +au+6u? —2u+1
a1 = \ y*a —2ula —u* 4+ 3ula +ud — 2au — 3uF +2u—1
u
as = \ud+u
—uta + 2uta — 4u?a — 2uP + Sau + u? — 2a — bu + 2
as = —wda+ula+u —2au+a+u
uta — 2uPa + du2a + 2u® — Sau — u? + 3a + 6u — 2
ajp = wa—vla—uwt +3au+ut—a—3u+2

uta — 2ula — u* + 5ula + 3u® — 6au — 4u? + 3a + 8u — 2
ag = wa+ u* — 2ua — 2uP + 3au+ 4u? —a —Su+ 2

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u* + 4u?® — 16u? + 12u — 14
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C4
cs, Cr, Ca u'® 4+ 2u° + 3u® + 6u” + 8u’ + 8u” + 11u* + 8u® + Tu® + du + 1
€10, C11
C3a Cﬁa 09 (u5 + ’LL4 + 4u3 + 3u2 + 3U + 1)2
C12
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4
cs, Cr, Ca Y10+ 2y + 8 + 207 + 1698 + 449° + 63y + 42¢° + Ty® — 2y + 1
€10, C11
C3a Cﬁa C9 (y5 + 7y4 + 16y3 + 13y2 + 3y _ 1)2
C12
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Solutions to I{4

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

u = 0.233677 4 0.8855571
a= 1310210 4+ 0.036071I
b= 1.38058 —0.524711

1.81981 — 2.213971

—3.11432 + 4.222891

u = 0.233677 4 0.8855571
a= 0.16935 + 1.603691
b= —0.274223 — 1.1687001

1.81981 — 2.213971

—3.11432 + 4.222891

u= 0.233677 — 0.8855571
a= 1310210 — 0.036071I
b= 1.38058 +0.524711

1.81981 + 2.213971

—3.11432 — 4.222891

u= 0.233677 — 0.8855571
a= 0.16935 — 1.603691
b= —0.274223 + 1.1687001

1.81981 + 2.213971

—3.11432 — 4.222891

u= 0.416284

a = —1.023710 4 0.5225111 | —0.882183 —11.6090
b= 0.426151 + 0.2175131

u= 0.416284

a = —1.023710 — 0.5225111 | —0.882183 —11.6090

b= 0.426151 —0.2175137

u = 0.05818 + 1.691281
a= 0.612800 — 0.3768651
b= 0.140527 4 0.9580551

10.95830 — 3.331741

—2.08126 + 2.362281

u = 0.05818 + 1.691281
a = —0.568653 4 0.0635271
b= —0.673038 — 1.0144901

10.95830 — 3.331741

—2.08126 + 2.362281

u = 0.05818 — 1.691281
a= 0.612800 4+ 0.3768651
b= 0.140527 — 0.9580551

10.95830 + 3.331741

—2.08126 — 2.362281

u = 0.05818 — 1.691281
a = —0.568653 — 0.0635271
b= —0.673038 + 1.0144901

10.95830 + 3.331741

—2.08126 — 2.362281
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XIII.
IY = (u—2u"+---4+2b—3u, —2u+3ud+.--+2a+4, v'®—2u+. .- —4u+1)

(i) Arc colorings

o ()

a7 =

u —u8+u7—4u6+4u5—2u4+7u3—3u2+3u—2>

(
(
(
(
o= e
(
(
(
(
(

7u9+%u8+~-~—§u+3
az = %ug—u8+-~~+2u7%

—ug—i—gus—l—-u—%u—i—i’)
a1 = %ug—us—i— --+2u—%

u
a6 = \ud +u

—%u9—|—1%u8+ -~—|—3%u2+u
0=\ qu—gul 4+ - jut g

w —3ud 4+ 4 6u—3
ajg = _lu9+u8+..._%u+1

%u9—3u8+~- +5u—1%
a9 = W+ 208+ —u+ g
(ii) Obstruction class = —1

(iii) Cusp Shapes = 2u” — 6u® + 8u” — 14uS + 22u® — 22u* + 24u® — 24u? + 12u — 14
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C3,C4
cs, Cry Co u'® 4+ 2u° + 3u® + 6u” + 8u’ + 8u” + 11u* + 8u® + Tu® + du + 1
€10, C12
C2,Cs5,Cg (u5 + ’LL4 + 4u3 + 3u2 + 3u 4 1)2
‘11
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4
cs, Cry Co Y10+ 2y + 8 + 207 + 1698 + 449° + 63y + 42¢° + Ty® — 2y + 1
€10, C12
2o s (v° + Ty* + 16y° + 13y + 3y — 1)
‘11
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Solutions to I

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.140527 + 0.9580551
1.137480 — 0.5356601
= 0.05818 + 1.691281

10.95830 — 3.331741

—2.08126 + 2.362281

= 0.140527 — 0.9580551
= 1.137480 + 0.5356601
= 0.05818 — 1.691281

10.95830 + 3.331741

—2.08126 — 2.362281

= —0.274223 + 1.1687001
= —0.162827 + 1.2195101
= 0.233677 — 0.8855571

1.81981 + 2.213971

—3.11432 — 4.222891

= —0.274223 — 1.1687001
= —0.162827 — 1.2195101
= 0.233677 + 0.8855571

1.81981 — 2.213971

—3.11432 + 4.222891

= —0.673038 4+ 1.0144901
0.719565 — 0.3388581
0.05818 — 1.691281

10.95830 + 3.331741

—2.08126 — 2.362281

—0.673038 — 1.0144901
= 0.719565 + 0.3388581
= 0.05818 + 1.691281

10.95830 — 3.331741

—2.08126 + 2.362281

= 1.38058 4-0.524711
= —0.107568 — 0.8056401
= 0.233677 — 0.8855571

1.81981 + 2.213971

—3.11432 — 4.222891

1.38058 — 0.524711
—0.107568 + 0.8056401
0.233677 + 0.8855571

1.81981 — 2.213971

—3.11432 + 4.222891

0.426151 + 0.2175131

= —0.586646 + 0.8098431 | —0.882183 —11.60884 4- 0.1
= 0.416284

= 0.426151 — 0.2175131

= —0.586646 — 0.8098431 | —0.882183 —11.60884 4 0.1

> Q& €|l & €| & €| Q& €| 2 &) Q@ 8| @ €|l & €|l & €| & &
I

= 0.416284
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XIV.
Iy = (u®—2ul+---+2b—2, —u"+2u+---+2a+3, u'®—2u%+.. - —4u+1)

(i) Arc colorings

o ()

0
a7 =
- (3
% —ub +u® —2u4+3u3—%u2+2u—%
an = —%u9+u8+~--—2u+1
%ug—%us—H- +1%u2—u
as= \ v’ —ul+- +ju+3
%ug—u8+-~-+4u—g
12 = —%u9+u8+-~ —2u+1
—ud 4 2ud + 4u—|—%
a2 = %ug %u8—|—~ —l—%uQ—iu
_u9+gu8+..._%u+g
a; = %ug—us—i—- —l—%u—%
U
as = \ud+u
—%u9—|—u8—|— _u+1‘12
a5 = %US_U7+'_%U+§
%u973u8+~~~+%u72
a10 = —§u9+1u8+~-+§u+%

(ii) Obstruction class = —1

(iii) Cusp Shapes = 2u? — 6u® + 8u” — 14uS + 22u® — 22u* + 24u?® — 24u? + 12u — 14
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, C4, €7 (W’ +u* + 4u® + 3u® + 3u + 1)?
€10
C2,C3,Cs
C6, Cs, Co u'® 4+ 20 4 3u® 4 6u” + 8ub + 8u® + 11u? + 8u® + Tu? +4u + 1
C11,C12
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4,C7 (y5 4 7y4 + 16y3 + 13y2 + 3y _ 1)2
€10
C2,C3,Cs
¢6, Cg, Co Y10 4+ 2y + o8 + 207 + 1695 + 449° + 63y + 42¢° + Ty — 2y + 1
C11,C12
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Solutions to Iy

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.140527 + 0.9580551
= —1.73686 — 0.194031
= —0.673038 — 1.0144901

10.95830 — 3.331741

—2.08126 + 2.362281

= 0.140527 — 0.9580551
= —1.73686 + 0.194031
= —0.673038 + 1.0144901

10.95830 + 3.331741

—2.08126 — 2.362281

= —0.274223 4+ 1.1687001
= 0.762658 + 0.0209971
= 1.38058 +0.524711

1.81981 + 2.213971

—3.11432 — 4.222891

= —0.274223 — 1.1687001
= 0.762658 — 0.0209971
1.38058 — 0.524711

1.81981 — 2.213971

—3.11432 + 4.222891

= —0.673038 4+ 1.0144901
1.184040 — 0.7281711
0.140527 — 0.9580551

10.95830 + 3.331741

—2.08126 — 2.362281

—0.673038 — 1.0144901
= 1.184040 + 0.7281711
= 0.140527 + 0.9580551

10.95830 — 3.331741

—2.08126 + 2.362281

= 1.38058 4-0.524711
0.065122 + 0.6166871
= —0.274223 + 1.1687001

1.81981 + 2.213971

—3.11432 — 4.222891

1.38058 — 0.524711
0.065122 — 0.6166871
—0.274223 — 1.1687001

1.81981 — 2.213971

—3.11432 + 4.222891

0.426151 + 0.2175131

= —0.774953 + 0.3955451 | —0.882183 —11.60884 4- 0.1
= 0.426151 — 0.2175131
= 0.426151 — 0.2175131
= —0.774953 — 0.3955451 | —0.882183 —11.60884 4 0.1

> Q& €|l & €| & €| Q& €| 2 &) Q@ 8| @ €|l & €|l & €| & &
I

= 0.426151 + 0.2175131
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XV. I =(b+u, a+1, ud—u?+2u—1)

(i) Arc colorings

w= (o)

0
a?— u
1
a4— u2
-1
a1 = \ —u
—U
ag = \ —u?+u
u—1
a2 = —U
w—u+1
a2: _u2
w? —2u+1
a1 = \—2u?2+2u—1
U
a6 = \y? —u+1
u2+u
as = \y? —3u+2
—u?—1
ajp = u—1

(ii) Obstruction class =1

(iii) Cusp Shapes = —12u? + 6u — 21
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(iv) u-Polynomials at the component

rossings u-Polynomials at each crossin,
C Poly Is at h
C1,C3,Cs u3_u2+2u_1
C7,C9, C11
C2,C4,Co u3+u2+2u+1
€8, C10,C12
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
€4,C5,C
4,05, C6 y3+3y2+2y71
C7,C8, Co
€10, C11, C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I{%

V=1 (vol + y/=1CS)

Cusp shape

u = 0.215080 + 1.3071401
a = —1.00000

b = —0.215080 — 1.3071401

14.0789 — 1.88541

0.238787 + 1.0954941

uw = 0.215080 — 1.3071401

a = —1.00000 14.0789 + 1.88541 0.238787 — 1.0954941
b = —0.215080 + 1.3071401

u = 0.569840

a = —1.00000 —1.83893 —21.4780

b= —0.569840
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XVI.
I = (b+u, 2u®+5u® —3u?+a+3u—2, ub —u’+3u* —4ud +4u? — 3u+1)

(i) Arc colorings

o ()

0
ar = U

1
a4: u2

—2u® — 5ud + 3u? —3u+2
ail = —u

W —ut+3ut -3+ 4du—1
ag = \ —y® +u* —3ud +4u? —3u+2

—2u® —5ud 4+ 3u? —2u+2
a1z = —Uu

—2u® + u* — 5ud 4 6u® — du +3
ag = ,uz

—2u® — 5ud +4u® — 3u+2
a1 = \ —?+ut —3u+2u®—3u+1

u
as = \ud+u

u® 4+ 3u® — 2u® + 3u — 2
as = \2u5 —ut + 6u® — 4u? +5u —2

—2u* —4u? + 3u—1
a0 = \w® + 3u® — 2u? + 2u — 2

w —ut+2u® —3u?+3u—1
ag = w—ut+u—1

(ii) Obstruction class =1

(iii) Cusp Shapes = —3u® — 6u® + 3u® — 3u — 5
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 uw® —2u° +2ut — 2P+ 20 —u+1
€2, C6 C8 ul +u® + 3ut + 4 + 40 + 3u+1
C12
€3, s, Co ub —u® + 3ut — 4P + 4u® - 3u+1
C11
C4,C10 w20 +2ut + 2P + 2P +u+1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, €4, ¢ YO+ 2% +4y® + 3y + 1
€10
C2,C3,Cs
¢6, Cg, Co Y+ 50 + 9yt + 4y — 22—y +1
C11,C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to Ii

V=1 (vol + y=1CS)

Cusp shape

u = 0.232606 4 0.9437051
a= 0.215080 + 1.3071401

b = —0.232606 — 0.9437051

0.459731 — 0.9427071

—6.98708 4 1.686841

u=0.232606 — 0.9437051
0.215080 — 1.3071401
b = —0.232606 + 0.9437051

a =

0.459731 + 0.9427071

—6.98708 — 1.686841

u= 0.644833 + 0.1988431
= 0.215080 — 1.3071401
—0.644833 — 0.1988431

0.459731 + 0.9427071

—6.98708 — 1.686841

0.644833 — 0.1988431
0.215080 + 1.3071401
= —0.644833 + 0.1988431

0.459731 — 0.9427071

—6.98708 4 1.686841

—0.37744 + 1.477251
0.569840
0.37744 — 1.477251

12.2400

—6 — 1.025846 + 0.101

—0.37744 — 1.477251
0.569840
0.37744 4+ 1.477251

a
b
U
a
b
U
a
b
U
a
b

12.2400

—6 — 1.025846 + 0.101
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XVII.
It = (—uw+ut+b—u, —u*+ud+a—1, ub—2u’+2u* —2ud +2u? —u+1)

(i) Arc colorings

o ()

a7 =

—2ud + 3ut —ud +u? —2u
—ud +3ut =3+ 2 —u+2

—ud 4+ 2ut —ud —u+1
a2 = w—ut+u
(u5+3u43u3+2u22u+2

2P+t 4+t —ui—u—1
=2t Fu—u+2

—u? 42Ul —u? -1 >

—2u* 4+ 3u® —u? +2u—3
—2u® +4du* — 2ud +2u® —3u+1

Wb —3ut+3ut —2u2+3u—2
—2u® 4 3u* — 2u3 + 2u? — 2u

2ud — Ayt + 20 — w2 +3u—1
ag = 2P 4+ 2ut+u—u—1

(ii) Obstruction class =1

(iii) Cusp Shapes = 3u* — 6u® + 3u? — 3u — 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, 5, €7 w® —u® 4+ 3ut — 4w + 40 —3u+1
C11
C2,C4,Cg 6 5 4 3 2
u +u’ 4+ 3u” +4u’ +4u” 4+ 3u+1
C10
c3,Co W =20+ 20t — 2P+ 2P —u+1
Cg,C12 w20 +2ut + 2P + 2P +u+1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4
C5,C7,C8 y6+5y5+9y4+4y3—2y2—y+1
€10, C11
€36, o Yo +2y° + 4y + 3y +1
C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I{%

V=1 (vol + y=1CS)

Cusp shape

u = —0.398606 + 0.8001207
a= 0.122561 4+ 0.7448621
b = —0.644833 — 0.1988431

0.459731 + 0.9427071

—6.98708 — 1.686841

u = —0.398606 — 0.8001207
a= 0.122561 — 0.7448621
b = —0.644833 + 0.1988431

0.459731 — 0.9427071

—6.98708 4 1.686841

u = 0.215080 4 0.8417951

a= 1.75488 12.2400 —6 — 1.025846 + 0.101
b= 0.37744 + 1.477251

u = 0.215080 — 0.8417951

a= 1.75488 12.2400 —6 — 1.025846 + 0.101

0.37744 — 1.477251

1.183530 + 0.5070211
0.122561 + 0.7448621
—0.232606 + 0.9437051

0.459731 + 0.9427071

—6.98708 — 1.686841

1.183530 — 0.5070211
0.122561 — 0.7448621
= —0.232606 — 0.9437051

b
U
a
b
U
a
b

0.459731 — 0.9427071

—6.98708 + 1.686841
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XVIII.
I% = (2u® —u*+5u®—5u?+b+4u—2, a+1, u®—u’+3u*—4u®+4u?—3u+1)

(i) Arc colorings

o ()

a7 =

-1
—2u® 4+ u* — 5ud + bu? — du + 2>

—u
—u5+u4—3u3+4u2—3u+2)
2u5u4+5u35u2+4u3>

(
(
(
(
a1z = (—2u5 +ut = 5u? + 5u? — du + 2
(
(
(
(
(

ud 4+ 2u—1

—uwd 4+ ut —3ud +3u? —3u+2
wd —ut + 4w — 3u 4 4du—2

—2u® + u* — 6u® + 5u? —6u—|—4>

u® + 2u® —u? 4+ 2u
ud —u? +u—1

—u? -1
—2u® 4+ u* — 5uP + 6u? —5u+3

—2u® —bud 4+ 2u? —4du+1
a9 = \ —y®+ut —3u +5u2 —4du+3

(ii) Obstruction class =1

(iii) Cusp Shapes = —3u® — 6u® + 3u® — 3u — 5
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, 63,67 w—w? +3ut — 4P+ 4w —3u+1
cy
Co,C8 w20 + 20t + 2P + 2P +u+1
C4, Ce, C10 6 5 4 3 2
w4+ u’ 4+ 3u” +4u’ +4u” +3u+1
C12
c5,C11 w =20 + 20t — 2P+ 2P —u+1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4
Cg,C7,C9 y6+5y5+9y4+4y3—2y2—y+1
€10, C12
€2, 5, C8 Yo +2y° + 4y + 3y + 1
‘11
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(vi) Complex Volumes and Cusp Shapes

Solutions to Ij% VvV—1(vol +/—1C5) Cusp shape
= 0.232606 + 0.9437051
= —1.00000 0.459731 — 0.9427071 —6.98708 + 1.686841

—1.183530 + 0.5070211

0.232606 — 0.9437051
—1.00000 0.459731 + 0.9427071 —6.98708 — 1.686841
—1.183530 — 0.5070211

0.644833 + 0.1988431
—1.00000 0.459731 + 0.9427071 —6.98708 — 1.686841
0.398606 — 0.8001201

0.644833 — 0.1988431
—1.00000 0.459731 — 0.9427071 —6.98708 4 1.686841
0.398606 + 0.8001201

—0.37744 + 1.477251
—1.00000 12.2400 —6 — 1.025846 + 0.101
—0.215080 + 0.8417951

—0.37744 — 1.477251
= —1.00000 12.2400 —6 — 1.025846 + 0.101
= —0.215080 — 0.8417951

>~ Q@ €|l & €|l & €| & €| & &8> & &

7



XIX. Ify = (b—u, a+1, u* +2u® + 3u® + 2u + 1)

(i) Arc colorings

w= (o)

0
a7= u
1
a4— u2
-1
ail =\ u
—u
ag = \y?+u
—u—1
a2 = u
wHu+1
ag = _u2
W+ 2u?+3u+2
ay = wWHur+u+1
u
as = \ud+u
WHur+2u+1
a5 = Wt uZ+u
—u?—1
aio = u3+u2+u

(ii) Obstruction class = —1

(iii) Cusp Shapes = —6u® — 6u? — 6u — 6
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(iv) u-Polynomials at the component

Crossings

u-Polynomials at each crossing

C1,C2,C3
C4,Cs5, Ce
C7,Cg,C9

€10, C11, C12

(u? —u+1)*
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(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C2,C3
C4,Cs5, Ce
C7,Cg,C9

€10, C11, C12

(v* +y+1)?
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(vi) Complex Volumes and Cusp Shapes

Solutions to I}y VvV —1(vol + /—1CS) Cusp shape
u = —0.500000 4+ 0.8660251
a = —1.00000 3.28987 —6.00000 4 0.1

b = —0.500000 + 0.8660251

u = —0.500000 + 0.8660251
a = —1.00000 3.28987 —6.00000 + 0.1
b = —0.500000 + 0.8660251

u = —0.500000 — 0.8660251
a = —1.00000 3.28987 —6.00000 + 0.1
b = —0.500000 — 0.8660251

u = —0.500000 — 0.8660251
a = —1.00000 3.28987 —6.00000 + 0.1
b = —0.500000 — 0.8660251
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XX. u-Polynomials

Crossings u-Polynomials at each crossing
(u—1)%(w? +3)(u? —u+1)2(u® +u+ D u® —u? +2u—1)
€1,€3,C5 (P —ut F2u+ )(ut u? F2u+ )W ut 4 3u 4 1)?
€7, Cy, C11 S(u® =20 4 2ut — 203 + 20 —u 1)
(u® —u® + 3ut — 4w 4 4u® - 3u+1)?
(' 4 2u” + 3u® 4+ 6u” + 8ul 4 8u® + 11ut + 8u® + Tu? + du + 1)?
(' —9u® 4 — 64u + 32) (u'C + U+ But1)2
(u—l) (u +3)(u? —u+ D)*(u? +u+ 12w —u? +2u+1)
C2, €4, Co u? + 2u+ 1) (u* +u? —2u+ 1) (u® +ut + -+ 3u+1)?
8,10, C12 O+ u® + 3u* + 4u® + 4u? + 3u 4 1)?

6420 + 2ut 4 203 + 20 +u+ 1)

. ul +2u® 4 3u® + 6u” + 8ub + 8u® + 11u + 8ud + Tu? + 4u + 1)?
(' —9ut® 4 —6du+ 32) (uwC Fut o+ 3u+1)2
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XXI. Riley Polynomials

Crossings Riley Polynomials at each crossing
L2 ((y= D)y +3)*(y* +y+ Dy +3y° + 2y — 1(y° +3y” + 6y — 1)
(28 + 3y% — 2y + 1)(y° + Tyt + 16y° + 13y% + 3y — 1)?
C7,C8,C9 y6 + 2y3 + 4y2 + 3y + 1)(y6 4 5y5 4 9y4 +4y3 _ 2y2 —y + 1)2

€10, €11, C12

(
(M0 + 20 + 48 4 297 + 16y° + 44y® + 63y* + 42° + Ty? — 2y + 1)?
Syt 11y 4 - — 2560y + 1024) (510 + 11910 4 -+ — 3y + 1)?
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